Sorting Algorithms

July 17th, 2021 (Class #2)



A quick refresher...

-  What is an algorithm?
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A quick refresher...

- How do we measure how fast an algorithm is?
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Avray Sesting Problem
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Selectivn Sort
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Selection Sort

https://voutu.be/92BfuxHn2XE



https://youtu.be/92BfuxHn2XE
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Bubble Sovt
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Bubble Sort Worst Case
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Bubble sort is not any better :(
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Bubble Sort

https://www.youtube.com/watch?v=Cqa7SMsQBEUw



https://www.youtube.com/watch?v=Cq7SMsQBEUw

5 minute break




Divide and Conquer Algorithm for Sorting Numbers?
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Recursion Tree

for Merge Sort
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Recursion Tree Analysis
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Merge Sort

https://voutu.be/ZRPoEKHXTJg



https://youtu.be/ZRPoEKHXTJg
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Recursion Tree for Karatsuba Multiplication
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Number of Leaves in Recursion Tree
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